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2z+x=—1-8
3z=-9
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8z +3=6x—-9

8z —6xr=—-9-3
2¢=—12
z=—6
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—4r—8=2x—2
—dz—22=—-2+438
—62=6
z=-—1
(4) —72z—T7=—5(3z—5)
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—72z—T7=—15z +25
—Tz+152=25+7
8x =32

z=4
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(1) 32z+3)=2zx+21
6z +9=22+21
6 —2x=21-9
4r =12

z=3
4 +20=—2(4x +2)
4o +20=—8x—4
4z +8x=—4—-20

120=-24
z=—2
—8z+3(xz—2)=19
—8zx+3x—6=19
—8z+32=19+6
—52=25
r=-5

3—7(2x+3)=—bz
3— 14z —21=—-bz
—14z —18= —52
—14z +52=18
—92=18
z=—-2
5(4—z)= —2(4x +5)
20—5z=—8z—10
—52+8xr=-10—20
3r=-30
z=-—10
—72x—3)+43z—1)=-3
—14z+21+122—4=-3

—2z+17=-3
—2r=-3-17
—2z=—20
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